SMEMJIFA U-18EERYvAH—)—52022 #wEZE)—4

¥ FEIOFBRERFRELT, RBICEOTEIBETERNEELNHYET .

188Y—% BT 28— 38—
# ] Af 215 ] 8 # | Bff 215 i) 8 EAER 215 B0 *8
[ 1300 | #WPEREB 1w 0 AR 4/2(%) i 10:45 H®E 1% 3 2 p 9:00 #HEEE 2 H 0 3
g | D) BNE= Tes [ mim=s o0 x 2 mr2ws ARTA | 830 | AR7ZA__ 3 4 EBHA V| ® [ Tow | gmrE 1 x 1 wEma
L 4t - 13:00 EHA 4w 2 #HE % #HERL 9:30 wER 7 % 1 @wFEEEL % L] 9:00 B 2 % 3 EET
= 14:45 8% 0 x 6 RE L 4amE) RElIESS 930 | MFEMB 1 ¥ 1 s 1 #WEEL | 1115 )8 5 x 0 #Fdt
4/3(H) LIk 11:15 RH oA 1 wERE L HEHME | 930 X 4 X 0 #FEHME B | 458) [ AR7A 11:15 |ABRHMNEB 2 5 0 HET
4/9(%) dLEeE 9:30 Bl 0 x 3 EE =) 10:45 Fadt 2 ¥ 1 #EFEER AEE 13:30 BER 5 X 2 #HWFEE
% | 4/1008) . 9:30 8F 0 ¥ 1 A HEHME | 1115 ES 3 X 1 MEHE— 15:15 paxii 1% 1 KPS
2 11:15 &H 1T X 2 HFEHES sot) | XAE 115 | AB74 6 5 0 #HFEFE— p— 13:30 AER 4 ¥ 0 HHT
o 1) | B 13:00 el 2 w1 wHEPE HEEHEA | 1330 | MFEHMWE 4 X 0 2% 4/9(x) 5 15:15 #&)IIB 3 X 0 WEES
! — 1445 | BIIEZB 2 X 2 WERHES % s 9:00 L¥ ] 1% 0 Fina % HWEHEA | 1515 EET 1% 0 #EdL
4/16(%) RH 9:00 RH 1 2 EE 2 AR 9:00 Fadt 1 o 2 AESEA 2 # 9:00 AEYE 3 x 2 #
% e 9:30 #WEREB 0 w1 EEA B | 4/100m) WE_EF:H: 9:30 ;ﬁ% 4 % 0 WEREL L 4/10(8) ﬂ*_JII@ 10:45 W_ﬁ%.'ii 0 2 WEEHC
;ﬁ 4/11B) 11:15 BF 0 x 3 dtzAEE ABETRE 1045 | #EEERB 1 0 FHAE AEEL 11:15 HHB L SRVAE. PNk
o | 1300 WEEHB 5 W 0 WEYE # 10:45 WEE 4w 2 WEFR FE 12:30 RE 0 % 1 HWESHE
= 1445 | BNIE=B 3 R 1 R ) RETA 13:30 BE 3 2 KRETA KA 10:45 AE¥E 2 H 1 WFEEHC
=) 9:30 HHA 1o 4 EE AR 1515 | MFERB 7 X 0 WFEFE— 4/16(1) | ZEBEE 13:30 |ABERAEB 1 % 2 AR
M # 10:45 il X 0 MFEEHB % AEHR | 900 wEE 2 N 2 FAEHA % AEFA | 1515 REL 1 X 1 #F#ES
4 | 4/24(R) =] 11:15 &H | Ell] 3 EalIE=) 9:00 25 3 X 1 Fia 3 o 9:00 #&)IB 4 % o o
i [— 1300 | #AREB 2 X 1 WEYE B | 4/17) 3 10:45 il 3 % 0 BHE & v | s 10:45 #wE 1 ® 8 HWRMHF
B 14:45 8% 0 x 5 BIE=B AR 10:45 |@EHME 4 ® 0 WEEL 12:30 RE 4 ® 1 HELT
[ 9:30 A 2 w2  tZEE =) 14:45 - 0 ® 0 WEFHR =] 13:00 HHB 1 ® 1 #EEE
z 11:15 8F 0 X 9 wHHPE F— 10:45 ¥ ] 7T 2 WEHE— 4/23(1) HEEE 9:00 #Ed 2 % 3 WEEE
5 [ 6/12(B) | s 1230 | #MFREB 2 # 0 MWEEWESB 4/23(%) i 12:30 EES 2 @ 0 WFEKB WEEHEEA | 1515 |AERHMNEB 1 H 1 RE
L s 13:00 A 1o 1 HE = MEHEA | 1330 |MEHEE 0 ¥ 3 #WEFR = # 9:00 EET ¥ 0 #
B 1445 | BIE=B 2 R 1 EE 4 ARSI 9:00 ®E 2 3 0 GAEEHE 4 HEBE 9:30 #HEEE 1 d 2 ABRYE
B 9:30 EH 1 3 2 EHA Eﬁ oumy BNAE | 030 [ filatk 4 3 1 B B | 4oum) | AEMA | 1045 | @B 1 X 2 MWREEC
= AR 10:45 87 2 X 2 WFREWB #MERL 9:30 Fs 2 1 #ERi #ERL 11:15 ®EAB 2 H 1 HET
5 |6/19R) | %H 11:15 RE 2 3 2 #EFE #E®E | 1115 25 T 0 BHA FAE | 1115 | BAMGE 5 X 0 MEAES
= WIE= | 1300 | MERKB 2 ¥ 1 e 6/18(+) | ZARER 1515 | RIS 0 1 H#E IS 10:45 EET 0 ® 2 MEEHC
EINEZ 1445 | BIIE=B 3 #» 0  gEE AR 900 |#WFESHMA 0 X 4 ABHA 6/128) HEEHME | 1045 #EE o0 X 2 HET
L 930 | BIEZB 3 3 0 FEBIA % svanazzzenr|  9:30 Ble 5 A 1 HEFER * #WERAL | 1115 | MFES 4 ¥ 1 HFEE
% dLaeE ) Ell] 4 x 2 wHAYE §5ﬁ 6/19(H) #E R 9:30 MEEE 1 ¥ 6 2HE ér‘ﬁ AEEIE | 1230 AR 6 Xt 2 A
7 | 6/26(H) L] THE &H 0 X 1 #FREB = 10:45 ABE7A 1 ¥ 2 #WFEEES 2178) HEBIZ 9:00 #EHE 1 X 7 &B
ﬁﬁ A ) 8% 1 % 5 HE 12:30 2% 3 1 WMEHE— " 900 | #KKihE 2 x 2 3
EE 1330 | #HEE2HB 0 x 1 EE AR 11:15 ES [ = 9/25(H) =) 16:00 |AEERAEB 1 % 6 =i
)] 9:00 HE 1w 0 AR 8/310K) AR 15:00 HER 5 %t 3 'S 6/25() EETX 9:30 #HEEZE 1 H 5 EET
g | 779D s 15:00 RH 5 % 1 85F 6/25(1) | EEI% 115 | @EBEE 0 @ 1 WHEHE— RER 13:30 FER 4 w5 8B
s ! T | 1645 | EIIEZB 2 ¥ 0 #EFE % AEMA | 900 BIE 5 f 1 FEMA P # 900 | #F®H®E 1 X 3 3
- 9:00 EHA 1o 2 WREREB 6 s | 900 BBt 2 ¥ 9 BHEHEE 6 1045 | #AMPE 1 ¥ 3 WEEREC
VR | BB s | menEE 2 W 1 RE w020 | HESME ol T Ex 0 w4 BB B | 6/268) | AEWA | 1045 |AEANES 3 N 0 @Rk
7/16(1) | #ERE 9:00 8% 0 x 8 #MFREB # 12:30 BHE 4w 0 #EFER WEMME | 1230 | AE¥E 2 x 1 #&)IB
% [ 9:00 A 2 2 #HAFE 7/24(8) =] 16:45 RE7AL 3 H 1 i EE 15:15 HERS 4 H 0 HET
% 2178) 10:45 Ell] 1 % 4 WEEHB 7/80E) A 10:45 | #FEKB 2 * 0 LY 7/9(%) | EETX 9:00 AEE 2 3 1 REET
b [ 15:00 HE L | EE REETE 10:45 AE7AL 0 H 3 2% HEBEIER 9:00 #EEE 0 X 3 WAMPHE
BT [Tieas &H 1o 2 EIEZB % #lus 9200 | Bsdk o w5 s % | 70y o mE | 1045 |BERAMEB 2 X 1 HE#RE
18— (BH) ﬁ7ﬁ 2/1008) #HE R 9:00 BE 3 @ 0 #WFRFI ﬂ7ﬁ REIIES 10:45 BER 8 % 0 #Fit
Eil Bt 215 B bS] AEETHE 9:00 BHE 0 ¥ 2 AEHEA ABETE 10:45 #HEEE 2 X 4 MEEHC
= 9:00 EEBA 3 ® 1 xR HEBE 10:45 1 2 4 HEHEE 7/23(%) # 9:00 # 6 xt 0 HEHET
10 | 8/27(+) B 1045 AR 0 % 3 RE 7/23(%) # 10:45 WEFRE 2 X 1 #HEH— 7/24(H) =) 16:00 RE 4 9 HHB
i 12:30 #wE 4 X 2 a7 MEHEA | 900 BE 0 x 3 WEHEE Jry— 9:00 #HEEE 1 H 1 #HEFEE
% 9:00 A 3 i 2 tFEE 6/12(8) | % 9:00 bk ] 2 w1 Fs 6/18(%) = 10:45 AEFE 0 X 2 #AMEE
11| e/sd) L 1045 HE 2 ¥ 2  wyE = #MERI | 930 | REFA 0 A 0 #WERL % AER 13:30 AER 5 x 2 MEES
i 12:30 f3::) 4 = 0 BT 8 | 7/16(%) | WERHK 1045 | #EEEB 0 x 1 25 8 E 3 900 |AERMEB 4 X 0 k3
o . w00 | mwA 3 ® 0 @ S I 045 | IS 2 3 3 BHA B ooy rsamen] 1105 | HBT 0 3 14 mEEmC
12% 9/11(8) 1045 g 1% 3 wEeE HEEE 10:45 #WEE— 0 X 0 ZAEAEA EETE 13:30 #&)IB o 1 EET
P 15:15 HE 1 0 E1:] 9/25(8) =) 14:45 BHE 1 x 1 PSR - 15:15 RE 3 X 1 wEd
P _ 9:00 A 3 A/ 1 3] LR 9:00 Fadt 2 W 2 #WEHE— 3 9:00 BER 4 H 1 o
6lomee | F® Tom | wer s w0 mE e 045 | mE 1 W 2 B VD Teiist | 104 | @B 1 W 2 mAKGE
& 2IES 11:15 AAYE 1 H 1 o % #ls 9:00 S 0o X 0 fum % L) 9:00 BHB 6 xt 2 #Fd
% | 9/058) = 9:30 wE 1% 1 EBAA % AEETHE 9:00 ES 6 xt 1 AEEHE ﬂ% HEEE 9:00 BAEFE 2 ¥ 4 #HEEE
14 11:15 AR 0 x 1 a7 7/31(R) | #HFRE%E 10:45 HERE 5 % 0 FHE 7/31(B) | AEEHR 10:45 RE 1 of" 2 HWEES
B [yut | mras 12:30 RE 0 X 2 ##FE =3 10:45 AE7A4 6 3 3 #WFEFR Re[1E 1045 |AERMNEB 2 ® 1 #MFEEHC
#WEBE | 1500 | HFERB 7 ¥ 1 #ER4 WEEE | 1645 | #HEEE 5 w1 HET
s 1500 | MESEA 2 X 4 s I 9:00 #)IB 2 3 0 #EEE
o/ort) |ERMHEIS] 1515 ED) 6 x 3 BHE a/27t) 10:45 L) 1R 7 wERs
% EEIIIES 16:45 HEE 4 @ 0 #HEHE— % P 14:30 EET 1% 2 #KHTE
10 BEENEE| 1700 | WEEMB 7 3 0  #HEZE 10 1615 | ABRMEB 0 ¥ 0 #WAAR
| s8B) | B 9:00 LES 8 x 2 st B Taonm) | gt 1045 BER 2 X 5 #WEEHC
13:30 gt ] 1) 1 #FEEL . 9:00 KE 3 x 1 #
e B 1515 | A®74__3 # 3 ARAA vk 045 | AEPE 8 W 0 WEHI
I8l 9:30 Fak 1 o 11 AETA st 11:15 &)IIB 9 w1 HBT
9/3(%) HERES 13:00 WEHEE 2 X 1 2HE EETE 13:30 EET 0 x 2 HFEE
% 14:45 EBE 2 ¥ 1 mEE— % | 93D AR 13:30 #WEEE 1 % 6 FER
11 ABHA 9:00 #MEERB 1 X 0 AESA 11 EET% 15:15 WAL 0 A 9 wEMA
L o/am) |_TEEL 9:30 2 4 3 0  wEFRL L AR 1515 | AEEAEB 1 X 2 FEEYE
# 10:45 i 3 X 4 wEFkR o/KE) # 9:00 EEiB 2 3@ 1 3
R 11:15 BXE 1"/ 2 HEE AR 10:45 pakii 3 x4 HWEEHC
N 9:30 #lsdk 0 x 3 HWFREEB EEI% 9:30 EEL 7 1 0 HHL
s PUBE s | ~m7e 1 6 1 wam VOB T ew | ww | mEE 2 # 0 AESE
= ERIE 11:15 EES [ #E % EIES 1115 | AERAEB 0 ¥ 3 &8
12 FER 15:15 #WEHWE 3 X 0 AFE— 12 | 9/11(A) # 13:30 #wE 0 x 4 E
i o e 930 FIE 6 & 1 ¥Ha & Suanazzrens| 1330 w8 1 A 11 WRERC
Suanazzone| 1515 2 2 3 0 Pk I 900 | #WAMDE 1 ¥ 1 wFAE
11/230K) LS 13:30 LS ] 0 xt 3 FAESA 10:45 #HEEE 1 o 1 RE
WHEHEE 9:30 LS 2 X 3 WEHKEE 8/310k) L] 16:45 FEYE 5 3 2 pakia
g 13:30 #ad 0 X 1 g AEHMA | 1115 | BAMBE 6 % 2 HHI
. (D ey, 0 | ARz o # 1 #a s TP 1515 FE® 0 A 1 mB
13 15:15 #EEE 0 @ 3 HFEFR 13 # 9:00 wEES 4 o 2 #
u IS 930 s 4 W 0 mRE— B e | EBR | oas | mEk 1 x4 3 mEmso
9/18(R) | ZAEHA 9:00 2B 6 X 1 ZEAESA RETE 1330 | AERMEB 2 X 2 EET
# 1045 B 4 N 1 wEEERS a 15:15 #E=mZE 3 w3 B
HEBE 10:45 RE7A 2 @ 4 HEBKEE 1n/12() | #HFEEE 9:00 #EFEE 2 w1 HET
st | HEEE 12:30 A 4 X 2 ) ABR 9:30 AEE 3 3 0 EET
. N 13:30 EES 3 2 s = HEBE 9:30 MEHE 6 ¥ 0 wFL
14 15:15 #WFERB 2 X 3 BE 14 HA%E) AR 11:15 AR 0 X 1 &IB
B e |_FERE | on | mFREL 5 x4 2 mmmA & WEEE | 1115 | ARANES | 3 2 RAWTE
L) 14:45 2HE 1 & 3 HEHE— HERIL 11:15 WERES 3 ¥ 0 MFEHC
11/230K) g 15:15 e 2 2 2 Ll 13:00 AEFE 11w 0 L)
/150 HEBE 11:15 HENE 3 X 1 2 HEES 9:30 0O x 1 #HFEEH
WEHME 13:00 #EEMRB 5 X 2 #FEHME A HEBE 13:30 1w 1 mEEs
p # 10:45 AR7A 4 3 1 I = WEHME | 1445 AEYE 8 ¥ 0 #wEi
15 BER 11:15 Blmdt 1 @ 0 #WEEL 15 #HEEE 15:15 KA 4 3 0 EET
B | j00m) | mR 1330 w8 4 W 1wk L # 900 * 3 ® 2 mPEmC
EL 14:45 #EFRE 2 x@ 1 AEHA 11/20(H) FER 9:30 FER 3 X 1 #AMhH
£ 15:15 & 1® 1 FHE L] 13:00 5#)IIB 8 x o0 EEB




